
 
33

3.
38

 H
.C

. R
EF

. 

 
49

0.
0 

 
44

7.
61

±0
.0

6 

8X
10

.3
2

EQ
U

AL
LY

 S
PA

C
ED

U
SE

 S
AE

 G
R

AD
E 

8 
M

IN
SH

C
S 

O
N

LY

 63.9 

 49.7 

 39.6 

 6.4 

 14.2 

 261.0 

 389.5 

 
26

5.
0 

 
22

2.
22

±0
.0

3 

 
3.03
77.0  

 
3.00
76.2  

 24.0  EFF. THD. 

 
3.15
80.0  

 
35

2.
36

±0
.0

6 

183.5
TYPICAL OF OIL

INLET AND OUTLET

A

A

OIL FILL PLUG (SEE NOTE "B")
FILL UNTIL OIL EXITS THE OUTLET PORT
3/4"-16 UNF-2B / SAE J1926
TORQUE 41 5Nm (30 4 LB-FT)

APPLY THREADLOCKER PER MA908
TURN IN UNTIL CONTACT WITH
THE HIGH POINT OF THE TOOTH
THEN BACK OUT 1.5 TURNS

SO

APPLY THREADLOCKER PER MA908
TURN IN UNTIL CONTACT 
THEN BACK OUT 1.5 TURNS
SI

3x M10x1.5 - 90LG SHCS FOR SHIPPING (SEE NOTE "C")
AND INSTALLATION ONLY.  THESE FASTENERS
MUST BE REMOVED PRIOR TO START-UP.

A

A

1

2
 30.1 

 1
16

.2
 

12X  11.00 THRU
EQUALLY SPACED

466.72
H.C. REF.

2X M10X1.5 - 6H THRU

 9
4.

9 

 22.5° 

 70.0 
8X M10X1.5 - 6H  20.0

EQUALLY SPACED

245.0
H.C. REF.

 10.20  32.75
M12X1.75 - 6H  24.00

OIL OUTLET
QD

OIL INLET
QZ

 
.87

22.19 

 
3.

88
98

.5
1

 

3.4995±.0005
88.89±0.013

SECTION A-A

REMOTE MOUNT BRACKET (SHIPPED LOOSE)
SEE INSTALLATION DRAWING PX1037967.

CONTROL ASSY (SHIPPED LOOSE)
SEE INSTALLATION DRAWING
PX1037996 AND PX1039743

VALVE ASSY (SHIPPED LOOSE)
SEE INSTALLATION DRAWING 1032408

1  INPUT MOUNTING FACE AND REFERENCE PLANE
2  SUPPORT PLATE MOUNTING FACE

NOTES:
A.    ALL POINTS AVAILABLE FOR TESTING ARE CODED  

B.    REFER TO MANUAL FOR RECOMMENDED OIL, CHECKING AND
        MAINTENANCE PROCEDURES

C.    REPLACE INSTALLATION BOLTS (3) BEFORE OPERATING PTO
        SEE MANUAL FOR DETAILS

B

C

C

TEST PORTS

SYMBOL DESCRIPTION PORT/ STANDARD DESCRIPTION TORQUE CLEARANCE FOR 
REMOVAL (mm)

ELECTRICAL 
CONNECTION

QD FLOW TO SUMP 3/4"-16 UNF-2B / SAE J1926 O-RING PORT 41  5 Nm
(30  4 LB-FT) 15 -

QZ FLOW TO CLUTCH 3/4"-16 UNF-2B / SAE J1926 O-RING PORT 41  5 Nm
(30  4 LB-FT) 15 -

SI
INPUT SPEED SENSOR
(72 PULSES PER REV.) 5/8"-18 UNF - 2A - 24.4  2.7 Nm

(18  2 LB-FT) - DEUTSCH
DT04-3P

SO
OUTPUT SPEED SENSOR

(30 PULSES PER REV.) 5/8"-18 UNF - 2A - 24.4  2.7 Nm
(18  2 LB-FT) - DEUTSCH

DT04-3P

1

2

3

4

ABCD

DESCRIPTION:

HEAT TREAT:SIMILAR TO:

kgWEIGHT:
MATERIAL:

SHEET:

DRAWN BY:

SCALE:

METRIC

DATE:

REV:DWG
SIZE: A2

RACINE, WI 53403 - USA
UNLESS OTHERWISE SPECIFIED

MACHINED DIMENSIONS
X.          0.75
X.X        0.25
X.XX      0.13

ALL ANGULAR TOLERANCES ±1°
GEOMETRIC TOLERANCING

PER ASME Y14.5M 1994

2kg-m
2

 WR  :

PX1032588B
C 1 OF 1

1:3

INSTALLATION
PTO, RC311P

 
 

 
 PX1032588A

198.38
 

NOTICE!  THIS PRINT CONTAINS PROPRIETARY INFORMATION AND IS 
NOT TO BE USED IN ANY MANNER DETRIMENTAL TO THE INTEREST OF

TWIN DISC, INCORPORATED
THIS NOTICE IS NOT INTENDED TO NULLIFY OR LIMIT RIGHTS 

GRANTED TO THE U.S. GOVERNMENT OR OTHERS BY CONTRACT.

APPROVED BY:

RC311FIRST USE MODEL:

FIRST USE ASSEMBLY:

REV CHANGE NO. DATE
03/01/2021ECNWF-101817C 

THIRD ANGLE
PROJECTION

CHECKED BY:
YU

5/7/2018

PUM

DAJ
1025420W Rev.A


	Sheet1
	Drawing View1
	Drawing View2
	Section View A-A
	Drawing View4


